MA 241 Test 2 Version 1 Remember: No work=No credit!
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1. (15 points) Evaluate fm

T

2
2. (12 points) Evaluate f cos3x dx
0

dx
3. (17 points) Use trig substitution to evaluate f (5~ 4x —x2)/2

Hint: For integrals with y/a? — u?,let u = a sin8

4. (26 points) Determine if the following integrals are convergent or divergent.
Evaluate the convergent integrals.

j e* dx
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5. (14 points) [ tan®x secx dx

6. (16 points) Use f08 e** dx to answer the following:
a) Use Simpson’s Rule to approximate the integral with n=4

b) Find the upper bound of the error estimate using |E;| < ngo y

lf®(x)| < K fora < x < b. Hint: f®(x) = 4e* (4x* + 12x2 + 3)
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